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N&fiz & FhlE NET GRrROss HC [[Siva E& & NET GROSS HC MEAT K& it NET GROSS HC = ive & g NET GROSS HC Mtz & Fhlg 'NET GROSS HC
1 F B % # FFPGC 68.0 92 24,0 61 & & B #uEmec 73.0 73 0.0 121 78 & ¥ B ®o=cc 748 82 7.2 181 i % ¥ = FFFEC 76.8 90 13.2 241 & BF % — ®WomECcC 79.8 99 19.2
2ZF H B A BUEEGC 68.6 77 8.4 62 & JI 8 LAYEEGC 73.0 79 6.0 122 B & J 2 EGA 74.8 88 13.2 182 £ # H B D EGA 76.8 96 192 242 J\ R B F #lGCc 80.0 116 36.0
3AKE B fr B0ECC 68.6 77 8.4 63 B KE AHEF >-1kcC 73.0 79 6.0 123 — 1 3 {F WLERGC 74.8 382 7.2 183 # B [ momcc 77.0 95 18.0 243 E W Mg B F42CC 80.2 97 16.8
4 B o3 = #HUGC  69.2 86 16.8 64 FH E WM E BEGC 73.2 96 228 124 & 8§ X v ¥EECC 74.8 88 13.2 184 B[ B #2 H HPEBGC 77.0 83 6.0 244 B 8k #uLEEGC 80.2 91 10.8
58 % E HFFEC 694 79 956 65 F B B & #MUGC 73,2 90 16.8 125 B #] & 98 HHEFeC 75.0 111 36.0 185 4& 4 K {8 T EGA 77.0 83 6.0 245 & B 3 X EGA 80.2 97 16.8
6 M ¥ IE 3 #FFGC 69.6 84 14.4 66 )X & &, Z F¥¥CC 73.2 90 168 126 ¥§ # H X EGA 750 105 30.0 186 & Jil R X WOECC 77.0 83 6.0 246 R M IE & EGA 80.2 91 108
78 A B R FEFGC 69.6 90 204 67 & & ¥ Z #UEEGC 73.2 90 16.8 127 B & B%GC 75.0 81 6.0 187 £ + B 3| HFEFGC 77.2 100 22.8 247 /H 1% K EGA 80.2 91 10.8
B H & FCC 69.8 @5 252 68 = ¥ IF LAivEEGC 73.2 72 -1.2 128 & 3@ 2 & swEEec 75.0 75 0.0 188 & Lk #t HP EGA 77.2 94 16.8 248 # ¥ & = HWERCC 80.4 102 21.6
9t O % B #uEmee 69.8 83 13,2 69 I A FEE wirce 73.2 78 4.8 129 & £ & EE HEHGC 75.0 87 12.0 189 #& & EE F $PTGC 77.2 100 22.8 249 I H 3 5 ece 80.4 96 15.6

108 B ZE bwahace 69,8 77 7.2 70 FF |/ R — EGA 73.2 96 22.8 130 TN 886GCc  75.0 87 12.0 150 iff H H & EGA 77.2 112 34.8 250 5 M 3 ¥ #EGC 804 90 9.6

i1 45 * iF EGA 70.0 106 36.0 71 B ¥ E # swxce 73.2 78 4.8 131 3 58 #% HP EGA 75.2 92 16.8 191 % B 8 Z HFFGC 77.2 112 34.8 251 ¥ 1) E #d B#EGC 80.4 108 27.6
12 2 B 8 — #1$8$6GC 70.0 88 18.0 72 £ H F 18 = wEFGC 73.2 84 10.8 1324 | g ®oECC 75.2 86 10.8 192 X & 7t # EGA 77.2 94 16.8 252 K fh 3 SBCC  80.4 96 15.6

13 % A E B 3-91RcCc 70,0 70 0.0 73 B A& B8 4 BEGC 73.2 102 28.8 133 @ #& 3B 4 |EGC 75.2 86 10.8 193 X B K & 12 EGA 77.2 100 22.8 253 hF BB W (S MEo=CcC 80.6 95 14.4

14 E iR E— 8 mumu%c 70.2 87 16.8 74 — & 2 EGA 73.2 96 228 134 & ¥ 3= — FHAEBCC 75.2 92 16.8 194 F B — B HFRGC 77.2 94 16.8 254 B B ¥ F FFTGC 80.6 101 20.4
15 & £ = 7 $%C 706 79 8.4 75 8 sk M Bl mEGC 734 95 21.6 135 B E ) #UGC  75.2 80 4.8 195 X i A 2 SBCcC 774 93 156 255 F |t @ = mOECC 80.6 95 14.4
16 & 1§ i & F"ixagc;c 706 79 8.4 76 & ih = # F Tur—sL 73.4 95 21.6 136 £ BF M B WoECC 754 79 3.6 196 @ I B 5 EGA 77.4 105 27.6 256 51 B B HfTR6C 80.6 95 14.4
17 ﬁﬂ%iﬁ*ﬁﬁﬁx SHCC 708 72 1.2 77 & I E 1T HEFGC 73.4 89 156 137 /N BF & = ¥EBSRCC 75.4 97 216 197 5 # »* 1E ##HFHeC 77.6 98 204 257 I H & edmcc  80.8 112 31.2

18 % # &) EGA 71,2 94 22.8 78 B0 & TE SHBCC 73.4 77 36 138 3 B #% ¥ mo=ECC 754 79 3.6 198 EEHEE HILGC  77.6 86 8.4 258 FEHORF FHCC 80.8 100 19.2

198 MW {IS#cc 71.2 76 4.8 7O B #® — E¥Ccc 734 77 36 139 % M X ¥ $HFS6C 754 79 3.6 199 /7 JH 2 & BWEGC 776 98 204 2509% W R EosECC 808 83 7.2

20 i BF B ff MLEEGC 71.2 76 4.8 80 /3 = #H AERKGC 734 83 9.6 140 — 8 i 7 EFGC 754 91 15.6 200 3 [0 B 5 EGA 77.6 98 204 260 B Lt [ 3 EGA 81.2 92 10.8

21 00 B 3| H orPuec 714 87 15.6 81X ¥ i§EEcCc 734 77 3.6 141 & B ¥ EGA 754 85 96 200 & WM BB E HEF¥GC 778 85 7.2 261 JIl T % E EGA 81.2 104 22.8

22 &R {Z WEECC 716 74 2.4 82 @ W 15 38 H2BGC 734 83 9.6 142 = £ 49 & momicc 754 85 9.6 202 X B = & »-t(RcCc 778 B85 7.2 262 M BB 38 X EGA 81.2 104 22.8

23 £ BE E Ml $EECC 71.6 86 14.4 83 BEAEHEEGA 73.4 89 156 143 = #8 = = BiEGC 754 79 3.6 20318 B 5 47 EGA 77.8 91 13.2 263 F A FHFEFPGC 814 97 156

24 # £ & 17 HFRGC 71.8 97 25.2 84 tR E ¥ E F4CC 73.4 89 156 144 X & # i EGA 754 91 15.6 204 18 H =¥ 15 HFHcCc 77.8 B85 7.2 264 JE H ZE HFEPGC 816 90 8.4

25 = ¥ B — ®BoECC 71.8 85 13.2 85 i 4 e sl EGA 73.4 89 156 145 X # 1 H{EFGC 75.6 102 26.4 206 F ¥ B OWEIGC 780 90 120 265 1B B Kk B HFEFCGC 81.6 90 84

26 2 B B yeEPec 71.8 B85 13.2 86 + B # S HFPGC 73.6 82 B4 146 1 # ¥ = SBCC  75.6 90 14.4 206 % IE #&/F SCC  78.0 90 12.0 266 /vt B FHICC 824 92 9.6

27 & £ ¥ $HECC 71.8 79 7.2 87 & kK B — EOHECC 73.6 32 8.4 147 F B A & fLERGC 75.6 84 8.4 207 10 #1 # EZ HEEGC 780 S0 12.0 267 F H B = #FPGC 824 98 156

28 Z H ¥ — #EFGC 71.8 79 7.2 88 F JIl i = EGA 73.6 82 84 148 K T 3 1~ EGA 75.6 96 20.4 208 # Lk i = EGA 780 90 12.0 268 H th T3 Hi mEo=CC 83.0 119 36.0

29 & K B th HEFGC 718 85 13.2 B8OZFA B B AFHCC 736 76 2.4 149 th & F f] MLERGC 75.6 84 8.4 209 &£ R 12 & EGA 78.0 956 180 260 B E &2 — mo=CcC 83.4 105 21.6

30 & H F 88 #BuEEce 71.8 79 7.2 o0 ¥ & # = #uEmGc 73.8 81 7.2 150 1 £ 4 IUT-AGC 75.6 90 14.4 210 B ) 3B B EGA 78.0 102 24.0 270 5k H & § EGA 84.0 102 18.0

31 H B I & FEFGC 72.0 84 12,0 91 11 A& {£S#BCcc 73.8 87 13.2 151 % A B — ¥WH¥GC 75.6 78 24 211 K ¥ #5 & BiEGC 78.2 107 28.8 271 3 & 5= I EGA 84.4 106 21.6

324 R B Fi&CcC 720 9 24.0 02 B M = 8 #HFFGC 73.8 87 13.2 152 #2 KR I FHFCC 756 78 24 2212 W EHE - FHYCC 782 89 10.8 272 F H & tb EGA 88.0 118 30.0

33H B y-vYfrcC 72.0 72 0.0 93 B & i B 5FFGC 73.8 81 7.2 1538 & ¥ EGA 75.6 108 32.4 213 4, b & ®®cc 782 89 10.8 273 B & #3 3h EGA 90.0 126 36.0

34 B H xE B BoECC 72.0 84 120 94 ¥ HF EE EGA 740 86 12,0 154 @ A& W = B¥EGC 75.8 89 13.2 214 & [H IE # $EECC 782 95 16.8

35 8 B IE wmhace 72.2 77 4.8 95 A {FHIL{E Bo=ECcCc. 74.0 86 12.0 155 T @ % f# BoECC 75.8 83 7.2 215 (h J]  AZ wEEGC 78,2 89 10.8

36 /£ ¥ M & moECC 72,2 83 10.8 96 # AR 7@ H FHEFGC 740 80 6.0 156 3 EF B EGA " 75.8 89 13.2 216 #4 M 7 {Z #¥»CcCc 782 89 10.8-

37 K B — HF moOmCC 722 77 4.8 97 ¥ A B 1 ¥FRGC 74.0 98 240 157 F B # BEGC 75.8 83 7.2 217 & H IF # dk®CC  78.2 89 10.8

3B AN X —FHycc 722 89 16.8 98 H B & A EoECcC 74.2 85 10.8 158 = iF & — BB ¥R¥GC 75.8 83 7.2 218 # H ® 3—H{RCC 78.2 83 4.8

3I9H F A BEGC 724 82 96 00 A M E LI S8CC 742 85 10.8 159 & ® ] #7ETGC 75.8 89 13.2 219 EHEE T HFFGC 78.2 101 22.8

40 B H 1 Bl $@ECC 724 76 3.6 100 7 B BP f& B|EGC  74.2 103 28.8 160 ¥ & M % FUrCC 76.0 106 30.0 220 88 K E it HwEFEGC 78.4 100 21.6 :

41 K H M H3-g1rcc 724 82 96 101 A B 5 HFAFGC 742 85 10.8 161 L &= B /2 mO=CC 76.0 94 18.0 221 3 B %= F SBCC  78.4 100 21.6 [BBUR-I]

42 E B PIEIRCC 724 94 216 102 £ 8 i B ¥EECC 74.2 85 10.8 162 # & £ 7 1WI-IGC 76.0 94 18.0 222 # B ¥ K EGA 784 100 21.6

43 F E ¥t BH FEBRGC 726 81 84 103 A JIl X 8 HERPGC 742 79 4.8 163 X # I1F B FHEFGC 76.0 82 6.0 223 & E @ X ¥@ECC 784 82 3.6 A I1—A

44 F1 @ F IE F9¥CC 72,6 87 144 104 B Im M HOECC 744 96 21.6 164 # # B i %= EGA 76.0 88 12.0 224 #E W % K WFEFFGC 784 82 3.6 N2 -3-4-56-7

45 B M #F& ¥ BoECcC 72.8 86 13.2 105 F 1§ moscc 744 90 15.6 165 &8 B — HB JWEPBGC 76.0 88 12.0 225 § )il B 7R EGA 786 87 8.4 ’

46 E & B & — EGA 72.8 86 13.2 106 & B & B HFFGC 744 90 156 166 H # i & HFEPGC 76.0 100 24.0 226 & 8 T E@cc  78.6 111 324

47 #f ¥ B — MPFGC 72.8 80 7.2 107 ZfF BAEB #FFGC 744 84 9.6 167 ¥ B % Mg EGA 76.2 93 168 227 B/ EA SHECC 788 98 19.2 AFI-2

48 £ # AF = FRIBCC 72,8 86 13.2 108 ¥F th 2 HLEEGC 74.4 84 9.6 168 X T It — BEEGC 76.2 93 16.8 228K B i EGA 79.0 103 24.0 No2-4-5-7-8-9

49 || 8 W B WoOECC 728 74 1.2 109 E #§ B % EGA 744 78 3.6 169 F9 [ 2= &l >-9fkCC 76.2 87 10.8 229 % ¥ ¥ HI| &sBCcCc 79.0 97 18.0 "

50 — # = § F¥rcC 728 80 7.2 1102 [ 5 EGA 746 89 144 170 % B & 7 EGA 76.4 98 216 2304 L F EGA 79.0 85 6.0 )

51 = M #% — ®moscc 72.8 86 132 11l #F & EE FFEFGC 74.6 95 204 171 B B {8 3 EGA 76.4 92 156 231 & K 2 E EGA 79.0 97 18.0 AfE1—~X

52 B FIFcc 728 92 192 112 % M 8 Eo=ECC 74.6 89 144 172 K & 2 & EGA 76.4 98 21.6 232 41 #1 IE 5 HMRERGC 79.2 96 16.8 No3:4:5-7-8:9

53 A X & JrSBCC 728 92 -19.2 U3 HMERS - FHCC 746 83 8.4 173 & £ B & EGA 76.4 92 156 233 @ & 0 Bl EGA 79.2 102 22.8 )

54 #% W ¥ R EGA 72.8 92 19.2 114 & &6 {4 # FHCC 74.6 95 204 174 B # Kk | F/ECC 764 80 3.6 234 W B ¥ = FUrCCc 79.2 114 34.8

55 %1 & X thFYCC 728 80 7.2 115 B K 7 17 HPFFGC 74.6 89 14.4 175 &5 @ & 4 HFFGC 764 86 9.6 235 & ¥ % & PBGC 79.2 90 10.8 HE: ¥M5FE3818 (K)

56 /v ¥ HESBCC 73.0 79 6.0 116 [ 1 = WoECC 74.8 94 192 176 A H [ X HHEFGC 76.6 103 26.4 236 F )| B A WOECC 79.4 101 21.6 B BOBAYMU-935T

57 & £ & F HFEFGC 73.0 97 240 117 B HF B T 3-9IECC 74.8 94 10.2 177 % B B # SBCcC  76.6 91 14.4 237 T A EGA 79.4 95 156

58 £ M i Rl Mo=CC 73.0 85 120 118 B M k WEGC  74.8 88 13.2 178 & E 1 1 MLEMGC 76.6 91 14.4 238 ok B & {fl 4T EGA 79.6 94 14.4 FE: BB E JIIL JHB =

59 T & 'I'E & %ﬁ@%ec 73.0 73 0.0 119 K £ & — $/@RCC 748 88 13.2 179 . WL {- = EGA 76.6 85 84 239 5 F R B BIEGC

79.6 88 8.4
60 # JIl & = SBC 73.0 85 12.0 120 8 =& % B FHCC 748 94 19.2 180 H # # — ®o=CcC 76.8 90 13.2 240 T B JE th BO®=CC 79.6 94 14.4 @‘QW BYEER SHEE

— e a— e e —




